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1. %383 TE,BYT TR0 0osNT Jeomed B0s3 0T, &, FHRFOD WOTIF T
B0eLY LY, AT LTAD.
Write your eleven digit Register Number on the Question Booklet as

allotted in the admission ticket in the space provided at the top right
corner of this front page.
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T, 00%3oMoE  FR0RE, I BITJRICWL  wowd  TTFBI, FIOR,
B3 TRRTODG, D&, YN QO30 0TI TWOCFRBRT,
This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the Question Booklet at the time of

commencement of the examination. Check whether all the pages of the
Question Booklet are intact.

3. OMR @—g)ms& @B‘;G%mﬁ QEBSONOR)T.
OMR Sheet will be provided separately.
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4.
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This Question Booklet consists of one subject containing 45 questions.

Elements of Computer Science — Question Nos. 1 to 45.
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Each question carries one mark. Answering all the questions is
compulsory and each correct answer will be awarded one mark. There will

be no negative marking for wrong answers.
e
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During the examination,

a) Read the questions carefully.

b) Completely darken / shade the relevant circle against Question
Number in the OMR Sheet using blue / black ball point pen. Do not
try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C 1is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ @ @ @ ( This is an example only )
O O @ O

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.
20T TyJN 0T TR, FINYI), Jeww® BRRTY, 03T YVTTNTI) 30w

TONIR @oaﬁ%?mq QEBRMOR DY,

If more than one circle is shaded for a given question, such answer is

treated as wrong and no marks will be given.

%.20.80°. ( OMR ) RPuTY ANOT ZFTY, DT, HF oM 3pBER [0e25TTID

33-5;3@ D& TNTLICBD.

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
TWOEF BBWH WONT J0TT LTOETITY YVFORT 2.200.8T°. ( OMR ), 3niote)

dae@wmdﬁ@ﬁ 3553@ u&iﬁzﬁeﬁo.

Candidate should return the subject-wise answered OMR Sheet to the

Room Invigilator before leaving the examination hall.
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10.

11.

T3, T0RF B, T3 AT, QeRTIT 325, FoOIF T ToF 30 030¢ TWRTWOYTO.
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Rough work can be done in the space provided at the end of the Question

Booklet.

Toegy BesRC3RTR fmagwteﬁe@scs, draz:'g)@s RS, EFE N W2 933
OIRR)TE STT SVTFTEINTI, BTITTY QRCOBTING.

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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Subject : ELEMENTS OF COMPUTER SCIENCE
85 T,803R0TD0 TINeNR wFme STPF TePIROR Tow), BOVNTR), VBTN,
RN, FOOINT YVZTHRY, SO AT EBLINTID 8.20.650°. ( OMR ) VT
BEIONY, D0 P FY TooWAD WS TPOWOEF TIVOT  FOINT
0300, 1OTOER 45 x 1 =45

Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer among them and shade the correct
option in the OMR Answer Sheet given to you with a black / blue ball point

pen. 45 X 1 =45
The longest key on the keyboard is
(A) tab (B) del
(C)  space bar (D) enter

Mouse is a/an
(A) input device (B) output and input device
(C)  output device (D)  printing device

A group of four bits is called

(A)  word (B) nibble

(C) byte (D)  kilobyte

ASCIl is a

(A) 6 bit code (B) 2 bit code

(C) 3 bit code (D) 7 bit code
FORTRAN is a/an

(A) assembly language (B) machine language
(C) low level language (D)  high level language

The translator which converts assembly level language to machine
level language is

(A) assembler (B) loader

(C)  compiler (D) interpreter
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7. Auto cad is an example of
(A)  application software (B) package software
(C)  system software (D) programming software
8. Symbolic representation of a program is
(A) code (B) flowchart
(C) decode (D)  branching flow
9. Processing box in a flowchart is indicated by
(A) triangle (B) rectangle
(C) square (D) rhombus
10. Procedural representation of a flowchart is
(A) algorithm (B) looping
(C) code (D) loader
11. An identifier whose value does not change throughout the program
is called a
(A)  variable (B) float
(C) constant (D) comment
12. The size of the float is
(A) 1 byte (B) 2 bytes
(C) 8 bytes (D) 4 bytes
13. The statement that does not represent any operation is
(A) null statement (B) declaration statement
(C) assignment statement (D) expression statement
14. A set of simple statements enclosed in a pair of braces is called as
(A) labelled statements (B)  block of statements
(C) input statements (D)  output statements

15. The sequence of numeric digits with a decimal point is called
(A) character constant
(B) floating point numeric constant
(C) integer constant
(D)  string constant
16. The only special character used in a variable is
(A) space (B) sum
(C) underscore (D)  break
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The escape character used for horizontal tab is

(A) \f (B) \h
€\t (D) \a
The valid variable name is

(A) payroll (B) 1996
(C) compound interest (D) total

The statements in a C program make the program self explanatory

are
(A) expression (B) comment
(C) label (D) reserved word

Constants are also called as
(A) literals (B) syntax
(C) language (D) reserve word

The formatted input function is

(A) putchar (B) get char
(C)  scanf (D)  printf

The escape character used for line feed is

(A) \d (B) \t

(€ \n (D) \f

The symbol used for an address operator is

A & B) &&

c $ D) %

The unformatted output function is

(A) getchar () (B) putchar ()
(C) printf () (D)  scanf ()
The integer conversion character is

(A) n B) f

) 1 (D) d

The conversion specification character for octal number is
(A) %0 B)  %0X

) %C D) %S
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27.

28.

29.

30.

31.

32.

33.

34.

35.

The operators which require only one operand are
(A)  binary operators (B) unary operators
(C)  prefix operators (D)  postfix operators

The operator used for modulus division is

@A)+ B)

€ % (D) -

The relational operator used for NOT equal to is

@A) = B) <

< > D) >=

The operators which are used to link two relational operators are
(A) logical (B) binary

(C) unary (D)  conditional

The logical AND operator is

A %= B) >>

€ << (D) &&s

Any expression whose output either true or false is called as
(A) arithmetic expression (B) assignment expression
(C) logical expression (D) relational expression

The equivalent C expression for the mathematical expression

_AB_ CD
S—C+Als

(A) S=(A*A/(A+B)-C*D
(B) S=S+A*B/C

(C) S=A*B/C+C*D/A
(D) S=A-B/C-D

What will be the value of the expression
S=((A+B-C)*B/A)-A*C) when A=3,B=5and C=27?

A  S=4 B) S=6
c sSs=17 D)y S=2
Example for single character variable is

A P (B #
€ 8 (D) #
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The conversion specification character for decimal integer is

(A) e B) %d
(C) %f D) %s

Which of the following is correct operator to compare two

variables ?

@A) = B) !=

(C) equal (D) ==

The number of key words in C language is

A O B) 48

() 32 D) 25

The format identifier '% C' is used for which data type ?
(A) int (B) char

(C) double (D) float

Which of the following is the correct comment ?

(A)  /* comment */ (B) ** comment **
(C) */ comment */ (D) {comment }
One kilobyte is equal to

(A) 1024 bytes (B) 1064 bytes
(@] 1054 bytes (D) 1074 bytes
Two parts of a program can be connected by

(A) arrow (B) circle

(C)  capsule (D) parallelogram
The termination of a command is indicated by

(A) tab (B) num lock

(C) enter key (D)  shift key
Which of the following is not a correct variable type ?
(A) double (B) int

(C) char (D)  real

Identify the error statement from the following :

(A) S=X1+Y1 (B) Sl=(a(p+q);
(C) Sum=X+Y; D) P=X+Y5;
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(B2, 500D 5N)
( SPACE FOR ROUGH WORK )
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(B2, 500D 5N)
( SPACE FOR ROUGH WORK )
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